
2

1 mark

0.08 ÷ 10 =

3

1 mark

0.7 × 400 =  

1

1 mark

3.7 × 20 =  



5

1 mark

0.2 ÷ 100 =  

4

1 mark

0.5 × 46 =  

6

1 mark

0.8 ÷ 100 =  



7

1 mark

93.67 × 10 =  

8

1 mark

42 ÷ 1000 =  

9

1 mark

0.03 × 37 =  



10

Use this multiplication to complete the calculations below. 

61,288 = 94 × 652

2 marks

94 × 65.2 = 

9,400 × 652 = 

612,880 ÷ 94 = 

11

Circle the correct solution to 388 ÷ 16

2 marks
24        24.2       24.25       24.4       24.5

388 ÷ 16

12

Circle the correct solution to 388 ÷ 16

2 marks
19       19.2       19.4       19.5       19.6

291 ÷ 15
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